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HARYANA SSC MOCK TEST-7

10.

11.

If with the first, fourth, sixth and seventh
lettera of the word HOSPITALITY, a mean-
ingful word is formed then what is the last
letter of that word ?

(A} H B] A

T (D] None of these
Pick the odd one out amongst the bllowing :
[A) Newspaper {B] Cinema

[C] Magazine (Y] MNowel

Find the next member of the sequence from
the given alternatives.

ZCBA YFED, XIHG

[4) WLEM [1=]]

[C] WELJ (O] WLES

What will come in place of the question
mark {7] in the following question ?

%

A and B are brothers. C and D are sisters. A's
=on is Vs brother. How is B related to C 7

(A} Father B] Brother

[C] Grandiather ([0 Uncle

What will come in place of the question
mark (7] in the following queation ?

F I o

Ald K

E|M]|?

A P B R

IC] 5 L] "-'

Hill : Mountain :: Sea :

[A) Lake [1=]] ﬂEE‘ﬂ!‘l
[C] River O] Waterfall

In a code language, if A is written as £, B is
written as Y and C is written as X; then
DEF will be written as :

[A) W [B] RST

(C] SRQ (D] ONM

10.

11,

PO 3 e

T w= ‘HOSPITALITY 3 w4, =%, v T o
T § UF mEE ¥ S =, o= . af
AT R OEw

(A} H (B] A

T (D) None of these
forsffead § = faud = 997 &1

(A} =HEET T (B) fm

(C)] =f (D) =79m

fou mu foFeq # 9 e o @ Fi
ZCBA, YFED, XIHG

(A} WLEM {B] WJKL

(C] WKLJ (D) WLEJ

forafefad v 4 e 199 () & om0 36 sy

(A} 500 (B) 499
{C) 448 D) 513

z Fﬁaﬂmaﬁmifﬁmﬁﬁﬁ‘rﬁmﬂ

() T (B)
{C) =™ Dy =
frafefmd v ¥ v 199 (7) % w99 = 96 s Emy
[F[1]0O

AlJ K

E M| 7

(4] P B R

Ic) 8 o v
oEE  vEA  BR : P

A) wiE (B) WErEmw
(c) 4 {Dj

fFR Sy, WAR ZF At B H
YFewifMmi t i mC T X T =g At £,
DEF ¥ %3 friam =y 2

&) WU {B] RST

IC] SRQ Dy ONM
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12.  Five boys named 1J.K,L,M sit on the chairs | |3 of9 &z [, J, K, L 70 M 39@ @9 & 90 a0
Dsach a way that M is to the lenof L J1a | PR3 T H G S wmmm s w1
between M and K, and K between J and L Fah = S WS, MAMK F 99 A, K, ST
Who is immediately right of K ? L% ¥ 3 K # 99 % 30 T =n P s g
A) K B L (&) K iB] L

13 Er?]whh!a ord wm:l:lm:l Jl'ru:l he followin 1;:‘.] ﬁMﬁ I‘I'D] d ﬁ

. t er you find t TS G
words in the dictionary? 13. i = W fom w4 A
1. Inventory 2. Involuntary P
3. Invisible 4. Inwariahle 1. Inventory 2 Involuntary
3 Investigate 3. Invisible 4. Invariable
(A) #,2,5.3,1 (B] 4,5,1,3,2 3. Inmvestigate
5 B i R o B e T (A) 4,2,5,3,1 (B 4,5,1,3,2

14. Find the total number of triangles in the iC] 2,5,4,1,3 D 4,1,5,3,2

following figure.
s P 14. Fr T 8 fav 91 39 5@ w9 T
(1) 24 ;
[3) 20 {124 12) 22
15. The day before (3) 20 (4) 18
& mﬁwwﬂtmmmﬁﬁﬁam
-m1 f23 #m?
16. TEEE
wE
. 137 105 1190
s -
A 35 Bl 3= A 33 Bl 33
5 7 5 ¥
36 P 3¢ © 35 @ 35

18. Which of the following is the smallest | 15 £ 9§ o938 ot oem F= o 7
quantity ?

i ! (A) ! =] -
= | 3 -2 2

1 1 1 1
€ 7 D) oF € 5 L T

19, A mixture contains milk and water in the | 19. 5 f9sm 7 39 7 o0 |1 @@ 5:1 1 5 9=
ratio of 5 :1. On adding 5 litres of water, the i = T g H U W e 502 @ o
ratio of milk to water becomes 5:2. The ! o R
quantity of milk in the mixture is : ks
[A) 16 litres {B] 25 litres &) 167 iB) 257m=
[C] 32.5 litres (@ 22.75 litres (€] 325+ Dy 22. 7 =

|
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20.

21.

22,

23,

24,

25.

26.

7.

28,

If T 800 amounts to Rs. 1200 in 10 years,
find the rate percentage of simple interest

[ET year.
[A) 5% | 4%
€] &% O 2%

Precti bought a car in T 5,40,000. The rate

2
of its depreciation is IEE%' What will be

its price in 3 years ?
[t} T3,12,500 {2} T3,12,400
[3) T4,10500 4 T3,12,600

2 3+-.||2+ T+4/3 =7

(A) 2 B 2.3
) 4 o 1

A train travels at an avera
per hour for two d
travels at a spe
one and half ho
travel in the en
[A) 200 kms
[C] 230 kms
If the radius of

hours ?

(D} 150 kms
linder is ingf

29

]
IC] L

If a watch is sold at T 60, there is a loss of

15%. For profit of 2%, the watch is to be sold
at

[A) T 70 | T72

A TS5 D] T85

The single discount equivalent to three
succesaive discounts of 25%, 30% and 40%,
is:

(A) 30%
[C] 32.50%

B] 60%
D1 68.50%

1.

22,

T 7 800 F ofw 10 9% F 1200 # =6 § @
WYY == FAE 3w
A} 5% B 4%
iC] 8% D 2%
W 3 T 5,40,000 9 oF Fr =iEH wE T

ok 15%%?11‘«1?&%@#1-

{A) T3,12,500 (B] T3,12.400

{C] T4,10,500 0y T3.12,600
—JE+1,|I2+1‘|.E.J?+4J§ =7

(A) 2 B 243

IC} 4 m 1

WE TEME 2 W W) MR wF S0 TR v &

A S | T I A R 0 PR
70 o, oz ¥ shon =@ @ == 64 5 R
TS 3 R 2 A A

(B) 120fs#H

3+

A+=
A 2 =
4 29 ) 29
o 3
i) 25 D 29

o 9T 60 W = A 15% A 9 6 3%
= ™ & T g F f56E O -

{A) T 70 B 772

3 775 D) 785

25%, 30% T 400 ¥ FAME 9 & ToEr
T W -

A) 30% B 60%

{C] 32.50% D) 68.50%
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20. A number divided by 56 gives 29 as | 20, oF =5 § 569 W 3w OvEs 20 799 196
remainder. If the same number is divided =¥t T B @ v fFm =m ® FrEe 559 fmi
by 8, the remainder will be A) 4 B 5
@ D 7 2K s
30. Aboat goes 24 km downstream in 10 hrs. It 30. T T 0 A fom {24 A 109 7 awh W
takea 2 hrs more to cover the same WHEER AT A I Iaw
distance against the stream. What is the =P T TowE S 4 93 WS = A
speed of the boat in still water ? {A) 2 TRHL = (B 2.2 =% /==
(4 2 km/hr {B] 2.2 km/hr (C] 28T /%a (D) 4 & /5
(5} afkmfle:  ([B) 4 ksifhe 31, AR W F T 6
31. Wh::lgga Mahatma E-a:;;h;]aauaaumatcﬂ? jA) 1948 {B) 1951
L Bl [C) 1958 {y 1971
[C) 1958 O] 1971 5
32, Which is the India's largest and the oldeat | 32 W0 1 WS S5 o0 g srre w7
museum? [A) =T s, FOEA
{A) Indian Muscum, Kolkata [B) A s, = e
(B National Museum, New Delhi =[C) FEERT ST
(C] Allahabad Mu 2= (D). T 5 SR, $3rER
33, When was po gt
Valley? (A) 5000 %7, (B] 6O00ET
(4] 5000 BC i) 35008 (D) 2600%Y
{C) 3500 BC s FiEeES A T
34. Which Academ;
literature in all ;,_
I4) Sahitya
[B] Sangeet
[C) Lalit Ka
(0 None of
35. B.C. Roy
w b, i
iC) M
36. Light year is
(A Time i
iC) Light mj intensity of light [Cl iDy wFrm i A
37. Which scientist discovered the radicactive | 37, %8 JqF 3 Frbmiea 7= ifzg9 =i o= 5 7
clement radium? (&) T A
[A] Ismac Newton (B =@ wEEE
{B) Albert Einstein (C) T el
{C] Benjamin Franklin D) % T4
D) Maric Curic 38, el R s
J8. What Galileo invented? - :
{A] Barometer  (B) Pendulum clock (A) Fehe (B) T WG
{C] Microscope 0] Thermometer (C) R ID'! o F
39. What is the name of the CalTech | 3% qummmﬁw e &
seismologist who invented the scale used A F TR o A -
to measure the magnitude of carthquakes? (A) =Ed fEem
[A) Charles Richter [B) #Frmm S
(B Hiram Walker [C) Femsiadt Baieh
[C] Giuseppe Mercalli (D} T 7
(¥ Joshua Rumble
|
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40. The minimum age for voting in India is 40. WA A ARER F g Al e 7
(A) 15 years B] 18 years (A) 1599 (B) 1894
{C] 21 years [ 25 vyears [c) 21 % D) 250
41. The members of a State Commission can | q] w9 a0/ & o296 5 92 § gy 950 209 =1 o053 §
‘e e il loy-this (4] wE= T W R m
A} governor ona report by the Supreme Court B W F e
(B) governor on a resolution passed by ) ; : Frks
Parliament IC) & ki b el B
2 7R & TEE w ateE g
{C)] president ona report by the Supreme Court o) : :
(Y president on a resolution passed by 42, ww = A 400 i F h A e i i 2w
B it wH WAty WiEen w7
42, Who is the first Indian woman to win an (A) wHOEL o
Agian Games gold in 400m run? (B) 9, =w
IA] M.L Valsamma !E! P.T.Usha [c' mﬂﬂ '“:Q!
{C) Kamaljit Sandhu (D) K. Malleshwari (D} . Hegam
43. Most modern TV's dmw POWET even if | 43 s o TR 1= w9 0
fined: off. The W T §1 9w faed e v
is used was the =
{A) Scind 1 T Foa w7 _
(C) Color baland High voltage () o (B frle Sz
44. Which is a i [Cl ™ WA D) == deEw
Programmable 3 4 FR-W VR A wmiEe
(A] Flash frephe=si
(C) Fury
43. The first dcat h
Gandhi waa o o T T T 7
{A) Natio
(B] Peace s
{C)] Becularis
D) Anti-T
46, 20th gL &3
{A] Earth
{C] Mo Tobaoeo Da; 2
47. Who wrote th: famous book - "We the (=
people? [C} TR fard fEg
{A) T.N.Kaul D) =@ &+
(B) J.R.D. Tata 47. wiag FAE ' T e R e T
(C) Khushwant Singh A) Fm B
(D) Mani Palkhivala (B} FamETm
48. Which city is known as "Electronic City of [(C} = fod
milin?. (D) = A
1y, Al ) Tyt 4B, Frm W W W R W N A
{C] Guragon (I Bangalore 5
49, The words 'Satyameva Jayate' inscribed b
below the base plate of the emblem of India (A) = (B)
are taken from [c) e (D e
{A) Rigveda 40. A W WiEE & arn w e v e W W
iB) Satpath Brahmana AfFmwEE 7
[C) Mundak Upanishad (A) &R (B] wrod SEETE
(D) Ramayana [C) T==F =9f%g (D) oy
|
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50. Which of the following folk dance forms is | 50, T=w7® 73 & £ § 8 F=-m =F 73 =909 17
asgociated with Gujarat? [A) T (B)
{A) Nautanki B] Garba o I
(C) Kathakali (D} Bhangra (C] T i 0
51. Under Akbar, the Mir Bakshi was required | 51, 350 5 oA 19 99 59 o 399w =@ 97
to look after [A] T A (B] 9 m=E
{A] military affairs [C} =9 BT (D) Ty
4 fhe state tyosmiry 52. T fHod of o 87
[C] the royal household (A} e B 7=
[ the land revenue system - s
2 [c) %4 (D) = & =
52. Tripitakas are sacred books of
{A] Buddhists (B Hindus 53, g o A Fep T R W o W w6
iC) Jains D Mone of the above =
53. The trident-shaped symbol of Buddhism (&) Fmm B] =9
does not represent (C) 35 D) =
WV Bivans ) Pagon 54, siTEm ) wty #y A TR 99 3 6
{C) Buddha O] Dhamma (A) TRE (B) AT
34. The treaty of Srirangapatna was mgj;u.'d Rty -
between Tipu El.'lltan_ﬂ.nd‘__ _ = [C) EEE (D) 3= B
{A) Robert Clive - W g Tt A e am e 7
- (C) Dalhousie ; TA) 2.4 (B] 3.4
ba. :‘nh; perccntage [C} 4.4 (D) 5.4
IAJ’;:: = s S 2016 § e A
!C! 4.4 o ST 70 i El"'ﬂi?
56. Who has won a gl
the Asian Indoo
201672
[A) Dutes C
57. Who is the
[A) Babu
B} T. V. Raje
IC) Kai
]
58. Haryana wa i
following terms dur ] fareefared ¥ @ fFa
age? | = G
|A) Haritdesha [B) Haritpradesha (A} wEEEm (B) widwdrm
[C] Bahudhhanyaka (D) Haritdhanyaka (C) RMEaH (DY TSR
59. First novel written in Haryanbi language | o sl wen § foen v voe <959 & —
is—
[A) Heru-ki-Kahani [B) Dan Lila (&) P= T FA [B) 3 e
[C) Surahi Gaiva [D} Jharufiri (C) =t T D) wf
60. The 1200 MW Rajiv Gandhi Thermal Power | 60. 1200 MW 7=13 w4t I 5= wid=m 27 &
Project is located in which among the fFafar g fem & 7
following districts of Haryana? (A) T
[A) Hissar [B) Fatehabad (B} FAEEE
[C] Sirsa (D} Faridabad (C) f=
61. The Renuka, Kishau and Lakhwar Vyasi I FRERE
dams have been constructed on which | g1, o, fFms =n FaTg 9 Fr=eT 7 4 T
among the following rivers of Haryana? ﬁmﬂwmﬁh
[A) Gagghar B] Yamuna {A) T {B] T
[C) Tangri D) None of them (C) =zt (D) 5 @ F
|
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62. Who was the founder of Vishal-Harvana | 2.  #fmmm & {95 ©f@en o9 & osoeTF $5 87
[AP‘“' mtl-' ufvﬂmymmm ?E‘;i i {A) 3 79T fuE
o Viren i = e
[B) Om Prakash Chautala (B) s
[C] Hukum Singh (C] TFA e
D) Bhagwat Dayal Sharma (D) ®rTE T AR
63. The Haryana Government has launched the | 63. 278w wF8 3 957 T 547 9= 59 feafarad
’Ea.n_jh Mukt Faahul:lha_.n' scheme under @ fFa TAFE F 99 e w7
ﬁ; :mang the foliowing programmes [ (A} T =
[A) Gau Seva Aayog (B) T FY s
[B) Rastriva Krishi Vikas Yojana (C) A wgrwEs
[C] National Animal Husbandry Project D) =9 = T
(D] None of them | 64, FFarm T T T T PR | fRn-fE
64, The Kalesar National Park of Haryana is SaF g
famous for which among the following
Fauna? . (B) =&t
(A) Tigers s T (D) ¥# & Fr
—[-65. ¥ F THm um A el e o {2
B, | = jA) T B} sT-wr=h
1::] T (D) -y =y
[C] North-East B o ‘Tﬂ'r"l'rm‘lﬁ il = g’ F s
66. Who among the & 2 7 e 4 3 F o F
land plots in
E7. 1 1192 % TR
= Her # ¥ wmd
GBS, T &
! i oS TH. Wi 9ffEn HY
chgtblcga:lanchFLandSE rarmlmund:r mmiﬁmﬁqﬁﬁrﬂmuﬁfﬁaﬂi
the “Indira Gandhi Privadarshini ¥Vivah 3
Shagun Yojana™?
[A) Rs. 15000 [B] Rs. 21000 £ 12000 1E) 21000
(C] Rs.31000 (D} Rs. 51000 (€3 31000 1053000
69, Haryana State is the— 0. R T ¥ —
[A) Southern State (A} =i =1
[B) North-Western State {B) s@-T = 73
[C] Eastern State
[0 South-Eastern-State (C) ' vy
70. Which among the following two cities of i s N )
Haryana were established by Firoz Shah | 70.  TFafafes A = 2f@m & -8 W feraE
Tughlag? Fuged-oies it i i
[4) Hissar and Ballabhgarh (&) fomm ghim
[B) Hissar and Faridabad
[C] Hissar and Fatehabad =) fam :,: WA
D} Kaithal and Hissar (C) feam sin wHEER
{D) Hu =i fEnn
|
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71. Mithatal which is also known as “Eastern | 71, o fo @1 85 o9 % 9 v3m & %1 =0 =0
DEMBIT 6C ST, 0 HE G, # = P 4 @ wE % e e 67
ation, is located in w among the ; ;
following districts of Haryana? 4 (B
[A) Kaithal [B] Bhiwani () #harm (o) T
[C] Haryana (D) Panipat T2, TEOmMF AR TR TREE S AR AR AR
72 F'a!;a!. ::::r :ll' Haryana is in which district (A} v=E [B) =EER
of the state?
[A) Panchkula [B) Fatehabad (C) T R ) R
(€] Yamuna-Nagar [D) Faridabad 73. TEmm fEa 9= =W —
73. Haryana day is celebrated—
[A) 1st Nov. [B) 13th Nov. e e (- 1
[C] 1st Dec. [} 8tk Dec. {C] 1 Bg= [ 8 fEgm
74. A nuclear power plant at Gorakhpur village | 74. #fmamm & feaf=fed ¥ @ fFg fa F wwag w8 &
is coming up in Haryana in which among w v e § 7
the following districts? Al 8
[A) Sirsa [B) Fatehabad 3 _ = .1 J B (B)
(C) Faridabad 5). Affibal f5) WeRAR (D) =
75. The Governmen Fiarm wFE A T 1 7 T d afw=i=E e
accepted the F o T g F A oF wfwh T fewtw F
committee for in mmi.wmﬂmmmﬂn
7E. q1.2012 F = T
A A H fEn
7. 1 % fumd 2
[C] Bhiwani D} Palwal 1c}fq-nq=ﬁ [N
78. What is the current approximate power 78, EiATE Y SR AR A SR A
generation capacity of Haryana? ’ $3
[A) 1380 MW [B] 2245 MW
(C] 3480 MW (D] 4200 MW (A} 1580 MW (B] 2245 MW
79. Mithathal famous for the remaing of Indus {C] 3480 MW (DY) 4200 MW
civilization is situated in— -
70, T & ey F A wing TR e -
[A) Jind district [B] Hisar district e e
(C] Bhiwani district (D) All these {4) Fa= famm R
80. The state Government of Haryana has () e famm [0} T
cstablished “Centre of Excellence for | go,  #f@mm 9 w3 W-ra0d0« 9= % T80
Vegetables” under Indo-lsracli project at T & fei TRpwR S iR § fFn e
which among the following places? o
[A) Tohana in Fatehabad fiadhs i
[B} Ladrawan in Jajjhar (&) ZFr, FEEEE  (B) TEoER, mem
|C) Gharaunda in Karnal {C) =g FmrA (D = faadt, wEEm
[0 Nangal Sirohi in Mahendragarh
|
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&1. ‘Matter may be referred DUM.F1 =938 £ 91. The burcaucrat was ....... for his role in the
8 SCAM.
() wm o A e ahrE A e {A} awarded (B} criticized
(B) = Ta9d w fa=h i o fEn wa fFn = (C] indicted (DY reinstated
» 92. Lata is 80 ..... that he immediately believed
A
. my story of ghost.
(C) w8 = T fa s 1 T =Ees § {A} credulous {B] vociferous
(D) v g F fam s 51 w2 T ¥ IC) iﬂl;qmt;t ﬁmg){!ﬂcrnqihlt s
i . . Directions [Q. Nos- Find out part
82 ‘m' T A v A A which conteins error. If sentence is erro free,
{A) w=n B = then vour answer is [[V).
et 93. Greatly to our surprise (A)/ we find
) A mj_ ﬁ_ ringleader (B)/ was lame. [C)/ No error (D]
8. f ¥ BRI PARMAIFM L. ¥ F9E | 94, In India (A)/ working woman lead a life of
jA) TaREEE B] =rmEEE dual responsbilites (B} if they are married
and have a family. (C)/ No error (D)
[C) FFHEEE ) 0] FaErF 95. Synonym of parsimony is
824, Wfﬂ-ﬁmﬂ“* < “1Al Exp::m:litun: [B] bankruptcy
{A) I {E}-bribery (D) miserliness
iC) Fm 'Etmt:fluna.cy 1;] o
sani stupidi
85. Y& ¥ wAw [C] sensibility (D insanity
(&) sagemTER #rudent parking should be ......, studenis
(C) s o & 35 dhais hulz: parking
= ~ e | Lo ore
86, 9 foa T A
{A) FEET =g
B ™ aE T your kindness.
iC) o = )
D) ™=
87. FOAE r kndness
iA) W 2
(©) . in one month.
88 ‘dgE-wE' Y= gNwmionads | [A] Th ad wrote in one month
(A] wva-SEm {B] TERA-F [B) The book in the E_Luthu_r in one month
[C} The book was writter in one month
) WO DY) T (D} The boak had beenwirttern in one month
89. Wm W A 104 The swami said to the villager, "Please bring
1A ey 25 FY A © 49 =R me & glass of water”. Select the one which
33 2 o i best expresses Inidirec/speech.
B = | A WA [A) The swami ordered the villager to bring
(C) =-w=fdi i gren F7 T a@vgEHa him a galss of water
; ; bring him a glass of water
90. TE W ... § 19 4 T =0T 6 | 8
[C} The swami requested told the villager
A) =t B) =rFeH to bring me a glass of water
[C) =F%E D] =F"= (D} The swami requested the villager to
bring him a glass of water
|
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